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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2014
PART-III

HISTORY - Honours
Paper-V
( New syllabus and Old syllabus )
( New syllabus )

Duration : 4 Hours Full Marks : 100
Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

Ted YA fA0ed S (@121 A |
AT AN 2NN (e |
Answer Question No. 1 and any four of the rest.
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Group - A
; e =
1. Answer any four of the following questions : 4:x 5:=20

-1 B 2ivsia Bea e ¢
a) Why did the Revolt of 1857 fail ?

1857-43 fatarz Y zcafee @ 2
b) What do you mean by the Ilbert Bill Controversy ( 1883 ) ?

Zefaid e e (1883 ) Feite fo (AN 2
c) When and why did the Muslim League emerge ?

Y 8 (F PA AR BesAfE 96 2
d) Bring out the significance of the Morley-Minto Reforms (1909).

NCEA-RCBI FFE (1909) -9 Sl A7 3526 |
e) What was the significance of the Lucknow Pact ?

e pfea wreor i feet ¢
f) What were the proposals of the Cabinet Mission ?

W& i awRef & fe 2
g Write a short note on the Telengana Movement.

| (STETHR ST T4 @ 7o Gt Figa |
h) Write a short note on 'Green Revolution'.

e ReR’ Fod 9=fb e Bl forga |
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Answer any four of the following questions : 4 x 20 = 80

fFsfafe @-@m val arsa O e ¢

Do you agree with the view that the participation of peasants provided the link
between the military mutiny and the rural uprisings in India in 1857 ? 20
e 6 W S IO TWXEAZAN-Z 1857 A SIS ANRE [rwg € A Al
SGTAA Al 9focafes 2

Do you agree with the view that "the theory of the deindustrialization in early
colonial India is a myth" ? 20

“@eifFrafie AP 2SS YA orce SfMEEGR ©8 9alh THIe FEE IE” — 93
AG (A AN WA [ g 2 ,
What was the social base of the Moderates ? Evaluate their contribution to

Indian National Movement between 1885-1905. 10 + 10
sawgivr e fofe & foet ¢ 1885 (AP 1905-97 WY SRS TSI STHIEAH S
ST SR e |

Critically examine the different trends in the Swadeshi movement in Bengal. 20
AR TP SCwIEER [ifen aRIafeR ARIcEAmageT Rftana 3% |

How did the Aligarh Movement seek to reform Muslim society in India ? Would
you call it modernist ? 14+ 6

eI wifFEere STe SReR Pfem AT ABR GRRE 2 WA & @3 S
wigfaerm I Sfefze 333w 2

Do you think that the Civil Disobedience Movement was an unqualified advance
over the Non-cooperation Movement in every respect ? 20

Wi & W@ @ ABH W SRS SR HCHAED (ACE TR wrSToeiE
e foa 2

Trace the growth of the working class movement in India between 1919 and

1939. 20
1919 (AtF 1939 LB W&y SRS =fis (@M Wewerea [Feieem [gaed faa |
Was Jinnah solely responsible for the partition of India ? 20

CReReR oW iz & aaarg wif fewem 2

Assess Nehru's contribution to the emergence of a parliamentary system in
independent India. 20

FIF SRCS HALTII IAZR S F2F S AT FF |
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( Old syllabus )

Duration : 4 Hours Full Marks : 100

Candidates are required to give their answers in their own

words as far as practicable.
The figures in the margin indicate full marks.
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A1eg AcAiefe s oo |
Answer Questlon‘ No. 1 and any four of the rest.
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Group - A
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;i Answer any four of the following questions : 4x5=20

(- B1afb e Tea e

a)

b)

c)

d)

€)

g

h)

What is the significance of 'Watan Jagir' in the Mughal Policy ?

9o APIREA ‘S SN’ owg & 2

How did the 'Zabti' system of revenue assessment differ from 'Nasaq' ?
Alery Rzmeire TRfS’ I TR AR (AT IO 72 e 2

What was the fundamental essence of 'Sulh-i-kul' ?

EAZ-2-Fe1-93 o oA S foE 2

How did Nur Jahan influence the imperial policy during Jahangir's
reign ?

Was Aurangzeb's policy of reintroduction of Jeziya disastrous for the
empire ?

BAHE TS (GIEGTAR 722G AIGST ATF HroPT afee [ 2
What is meant by 'Hindupad padsahi' ?

‘M <AE) S 5 @R 2

What do you mean by 'Plassey Plunder' ?

“PFAMTIR 7PN IS & Q@IR/0T 2

What were the implications of the grant of Diwani in 1765 ?
1765 I (ST Altes oy & fe 2
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faemt -4
Answer any four of the following questions : 4 x 20 = 80
-1 5L 2ives Tea fue ¢
Discuss the different traits of historiography in Mughal India.
SIATS INEoR 202 5oia Rfen ariafe sicssa s |

What was the nature of Akbar's religious policy ? Comment on his relations with
the Ulemas ? 12 + 8

AR Gl iTod b [ et 2 Sremiena A0s ©fd 37ofd 7o((S 3y 5 |
The Rajput policy of Akbar and Aurangzeb was the product of their political

- prudence. Elucidate.

A G2 SIS AGTASAINS OIHA AGIANGD AN THA — [PHATSIE SNCEAIG] e |
How did the Mughal-Maratha conflict during the late 17th and early 18th
centuries affect the Mughal imperial fortune ?

HY MO (TSI G TV Morrd AN AT WA A RGNS Y9 AEETA
sfezgfors e geiiie swafe »

How did the agrarian crisis contribute to the decline of the Mughal empire ?

9 AFITEA O P FHHI S & 2

What were the distinguishing features of Mughal architecture ? Was there really
a distinctive 'Mughal' style ?

96 FIToR o ARiefa [ feet ¢ @it @af i Swa tett’ Reiw fbfes a1 I
fo 2

Trace the evolution of the Sikh community. What was the nature of the
relationship between Sikhs and the Mughals ?

i< sremica BUta Raael fm | fRTwa s10s J9eierd TS (e e 2

Why and how did Bengal emerge as the British Bridgehead in the 18th
century ?

B WerE A (@ @R P [t eofrafie «fen Rwima St Zoia siem
A ?

To what extent did the Regulating Act and Pitt's India Act provide a
constitutional framework for the company's administration in India.

SRSATY (PR *PRRIRZICE G0 Y AR IO 2 I (e @ASTEADE 013
@3z, (53 2wt i3 bl oA fea 2




